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1 |S%0h 1,817,227 | E)IEBLN DHET 23,196 | & JIIEBLY DHET 11,107,977
2 | ENIEL DET 639,594 |mA+H 17,739 @A +Th 9,923,357
3 |EEm 605,268 | R=ER=FEHT 13,837 |EET 8,467,566
4 |FEH 424,078 | &% 13,711 | R=A =+t 8,212,368
5 | =@ ER L) BT 66,570 | = & ABiES &N BT 12,787 | = AR ENET 7,291,820
6 &= 31,868 | FX£H 10,388 | &= 5,916,400
7 | REARALET 30,229 |mET™ 9,425 | BEM 4,980,867
8 AWM 17,207 |TEE™ 9,038 | = #BPE 75 + BT 1,106,136
9 |&mM 15,808 | LiEiEKT 1,210 | £4EiEKT 699,474
10 |mAE+H 15,123 | = AR 75 + BT 1,032 | &40 432,505
11 |tk 12,650 | Fm™ 690 | K fEABALLIET 24,020
12 |E=h 6,533 | &= 186 | L&t 24,020
13 | R=EERFFIET 4,479 | = E &SR ET 35 | LA ER L {EHT 24,019
14 | =R AR LT 4,349 | ik 21 |ElBTH 14,659
15 |15 % A0 HET 4,037 | LiEEB L {kET 20 | E@EH 2,820
16 |=REE A S 3,161 | KR ERA LT 20 | &= 943
17 | SREEm 5 +Er 2,597 | BlEm 7 | = R S R BT 235
18 | R=APEEAT 2,582 | #&Z &R K A BT 0 | Z=ERERE/T 0
19 | LiEEKT 2,098 | =R EREEFET 0 | ZIEERK)IIFT 0
20 | = ARE AT 2,051 | LAEERK)IIAE 0 | =R AR{E )1 BT 0
21 | ENEMZiE) BT 1,684 | B BM=I"H 0 | R=ERLZ HET 0
22 | R=Ah=mH 1,535 | & )IIBM= i )I| BT 0 | &R B &4t 0
23 |1EZERK A BT 1,310 | S EEE & 0 | 1% &K A BT 0
24 | LIEERL 1T 750 | & REER o 1+ (BT 0 | =R ER ;22 ET 0
25 | = ER SR BT 637 | K=K HHAT 0 |EZE=IRAT 0
26 |1BZE=IRA 523 | R AR K= ET 0 | RRER K= HT 0
27 | LAEERKIIAE 25 | = RE AR ) || BT 0 | R=EBEF FIIET 0
28 | R=E L= HHET 16 | 1% % B0 2 EHT 0 | 1% % BB 2 iAHT 0
29 | RFEERKZHET 15 | REZFRFFIET 0 | & JIIEB=iE )BT 0
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